Maths 10.6      Forming expressions
Go to the following website:
https://whiterosemaths.com/homelearning/year-6/
Look at lesson 2 watch the video and have a go at the questions.
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Find the answers below
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Now try
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Find the answers below
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1) Rhys uses cubes to write expressions for function machines. Draw the missing cubes and write the
missing inputs and expressions. The first one has been completed for you.
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1) Four children write expressions to describe thei pocket moneyfor the week. Are thel expressions correct
or ncorrect? I an exprssion  incorect, wrice th corect cprssion.
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1) a) Thisis comect.

b) Incomect - the comect expression is 3(y + 4).
<) Incomect - the comect expression is y ~ 3 + 0.
d) Incorect - the conrect expression is y +12 + 2.




